

# SOLGIO



## PRODUCT CATALOGUE

## Spreads

### JUST CHICKPEA BUTTER



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Chickpea Butter in Glass jar	14.1	-	-	12	11.6 x 10.5 x 4.7	17.1	120	10/12	15
Chickpea Butter in portion pack	1.06	10	10	100	7.4 x 14.1 x 4.5	8	150	5/10	15

### SERENDIPPITY CINNAMON SPREAD



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cinnamon Spread in Glass jar	28.2	6	12.7 x 7.5 x 5.3	15.1	126	18/7	15
Cinnamon Spread in Pet jar	10	6	8.8 x 5.7 x 3.8	4.25	273	39/7	15

## Spreads

### BOLERO ALMOND BUTTERS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Honey Almond Butter in Glass jar	13.4	12	10.5 x 11.6 x 4.7	16.7	120	12/10	15
Honey Almond Butter in portion pack	5.9	12	8.4 x 11.6 x 3.1	8.1	204	17/12	15
Chocolate Hazelnut Almond Butter in Glass jar	13.4	12	10.5 x 11.6 x 4.7	16.7	120	12/10	15
Chocolate Hazelnut Almond Butter in portion pack	5.9	12	8.4 x 11.6 x 3.1	8.1	204	17/12	15
Vanilla Almond Butter in Glass jar	13.4	12	10.5 x 11.6 x 4.7	16.7	120	12/10	15
Vanilla Almond Butter in portion pack	5.9	12	8.4 x 11.6 x 3.1	8.1	204	17/12	15
Classic Almond Butter in Glass jar	13.4	12	10.5 x 11.6 x 4.7	16.7	120	12/10	15
Classic Almond Butter in portion pack	5.9	12	8.4 x 11.6 x 3.1	8.1	204	17/12	15

### BOLERO PEANUT BUTTERS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Smooth Peanut Butter in Glass jar	12.3	12	11.6 x 10.5 x 4.7	15.7	120	12/10	15
Crunchy Peanut Butter in Glass jar	12.3	12	11.6 x 10.5 x 4.7	15.7	120	12/10	15

## Jams

### RODAKINO JAM



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Peach Jam in Glass jar	15.9	12	12.6 x 9.3 x 4.3	15.7	120	15/8	24
Peach Jam in Glass jar	30.3	12	15.4 x 11.1 x 5.7	15.7	70	10/7	24

### OFF THE VINE WINE-BASED FRUIT PRESERVES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Strawberry & Merlot Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Plum & Merlot Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Cherry & Syrah Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Peach & Sauvignon Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Fig & Cabernet Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Orange & Sauvignon Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Raspberry & Cabernet Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24

## Jams

### OFF THE VINE WINE-BASED FRUIT PRESERVES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Strawberry & Merlot Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Plum & Merlot Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Cherry & Syrah Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Peach & Sauvignon Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Fig & Cabernet Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Orange & Sauvignon Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Raspberry & Cabernet Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24

### PATHOS FRUIT PRESERVES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Strawberry Rhubarb Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Lemon Mint Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Rose Flavored Raspberry Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Mango Cayenne Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24
Peach Blueberry Orange Sangria Jam in Glass jar	8.5	12	11 x 8.18 x 3.4	10.8	180	18/10	24

## Jams

### PATHOS FRUIT PRESERVES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Strawberry Rhubarb Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Lemon Mint Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Rose Flavored Raspberry Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Mango Cayenne Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24
Peach Blueberry Orange Sangria Jam in Glass jar	12	12	11.1 x 8.18 x 4.5	14.1	144	18/8	24

### PATHOS JAMS



Item Description	Net Weight (oz)	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Strawberry Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Plum Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Cherry Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Peach Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Fig Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Orange Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Raspberry Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24
Apricot Jam in Glass jar	13	12	10.9 x 8.2 x 5	15.8	114	19/6	24

## Bars

### JUST BARS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cashews, Almonds & Cranberries Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Peanuts, Almonds, Chocolate & Sultanas Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Almonds, Apple, Cinnamon & Sultanas Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Almonds, Cranberries & Peanuts bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Peanuts, Almonds & Orange Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Peanuts, Almonds, Blueberries & Apricot Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Almonds, Walnuts & Raisins Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14
Peanuts, Almonds & Sea Salt Bar	1.41	12	12	144	14 x 12.8 x 7.4	14.9	90	9/10	14

### HAITOGLOU SESAME BARS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Sesame Bar in film	3.5	24	4	96	14.2 x 12.5 x 8.1	23.1	72	9/8	24
Sesame Bar in film	2.4	24	4	96	13 x 9.9 x 8.3	14.8	120	12/10	24
Sesame Bar in film	1.7	30	4	120	15.7 x 9 x 5.5	14.6	120	12/10	24
Sesame Bar in film	1.05	20	4	80	38.3 x 7.1 x 4	6.23	150	15/10	24

## SERENDIPPITY PB&J SNACK PACKS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Peanut Butter Filled Stix & Raspberry Jam combo pack	12.7	-	-	12	19.3 x 9.4 x 5.8	12	150	10/15	12
Peanut Butter Filled Stix & Strawberry Jam combo pack	12.7	-	-	12	19.3 x 9.4 x 5.8	12	150	10/15	12
Peanut Butter Filled Stix & Grape Jelly combo pack	12.7	-	-	12	19.3 x 9.4 x 5.8	12	150	10/15	12

## SERENDIPPITY PB&J SNACK PACKS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Peanut Butter Filled Stix & Raspberry Jam combo pack	2.1	12	12	144	15.7 x 9 x 11.8	23.5	72	12/6	12
Peanut Butter Filled Stix & Strawberry Jam combo pack	2.1	12	12	144	15.7 x 9 x 11.8	23.5	72	12/6	12
Peanut Butter Filled Stix & Grape Jelly combo pack	2.1	12	12	144	15.7 x 9 x 11.8	23.5	72	12/6	12

## SERENDIPPITY PB&J SNACK PACKS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Peanut Butter Filled Stix & Raspberry Jam combo pack	8.5	-	-	12	16.1 x 9.9 x 4.7	7.9	204	12/17	12
Peanut Butter Filled Stix & Strawberry Jam combo pack	8.5	-	-	12	16.1 x 9.9 x 4.7	7.9	204	12/17	12
Peanut Butter Filled Stix & Grape Jelly combo pack	8.5	-	-	12	16.1 x 9.9 x 4.7	7.9	204	12/17	12

## Bites

### CRAZY BITES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Mini Crepe Pillows with Vanilla Filling in Pouch	5.3	16	18.4 x 14.5 x 5	6.3	96	6/16	18
Mini Crepe Pillows with Chocolate Filling in Pouch	5.3	16	18.4 x 14.5 x 5	6.3	96	6/16	18
Mini Crepe Pillows with Strawberry Filling in Pouch	5.3	16	18.4 x 14.5 x 5	6.3	96	6/16	18

### LITTLE MOMENTS PEANUT BUTTER COOKIE BITES



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Peanut Butter Mini Crepe Pillows in paper box	2.8	12	12.4 x 8.5 x 7	3.4	176	16/11	18
Peanut Butter Mini Crepe Pillows in paper box	4.2	24	16.1 x 13.9 x 7	4.4	66	6/11	18

## Straws

### PATHOS COOKIE STRAWS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Straws with Cocoa & Hazelnut Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Vanilla Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Maple Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Cappuccino Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18

### TWISTIES COOKIE STRAWS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Straws with Peanut Butter Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Vanilla Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Chocolate Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18
Cookie Straws with Strawberry Cream Filling	4.4	20	15.3 x 9.8 x 8.6	7.9	108	12/9	18

## Rolls

### PATHOS COOKIE ROLLS



Item Description	Net Weight (oz)	Pieces Per Display	Displays per Carton	Pieces per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Straws with Cocoa & Hazelnut Cream Filling	0.88	24	12	288	11.2 x 22.9 x 11.1	20.9	42	6/7	18
Cookie Straws with Vanilla Cream Filling	0.88	24	12	288	11.2 x 22.9 x 11.1	20.9	42	6/7	18
Cookie Straws with Chocolate Cream Filling	0.88	24	12	288	11.2 x 22.9 x 11.1	20.9	42	6/7	18
Cookie Straws with Strawberry Cream Filling	0.88	24	12	288	11.2 x 22.9 x 11.1	20.9	42	6/7	18
Cookie Straws with Cappuccino Cream Filling	0.88	24	12	288	11.2 x 22.9 x 11.1	20.9	42	6/7	18

### PATHOS COOKIE ROLLS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cocoa & Hazelnut Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Cappuccino Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Vanilla Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Lemon Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Peanut Butter Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24

## Rolls

### TWISTIES COOKIE ROLLS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cocoa & Hazelnut cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Vanilla cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Almond cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Espresso cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Strawberry cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Lemon cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Peanut Butter cream filling in tin	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24

### TWISTIES COOKIE ROLLS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cocoa & Hazelnut cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Vanilla cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Strawberry cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Lemon cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24

## Rolls

### FELICE COOKIE ROLLS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cocoa & Hazelnut cream filling in tin	8.8	16	14.1 x 14.1 x 5.1	13.1	66	6/11	24
Cookie Rolls with Almond cream filling in tin	8.8	16	14.1 x 14.1 x 5.1	13.1	66	6/11	24
Cookie Rolls with Cocoa & Hazelnut cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Vanilla cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Strawberry cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24
Cookie Rolls with Lemon cream filling in tin	4.4	20	14.1 x 11.4 x 5.1	8.7	110	10/11	24

## Waffers

### JOCASTA ROLLED WAFERS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cinnamon Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Pumpkin Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Peppermint Bark Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24

### JOCASTA ROLLED WAFERS



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Cocoa & Orange Cream Filling	14.1	12	15.3 x 9.2 x 4.7	14.3	104	13/8	24
Cookie Rolls with Maple Cream Filling	14.1	12	15.3 x 9.2 x 4.7	14.3	104	13/8	24
Cookie Rolls with Apple Pie Cream Filling	14.1	12	15.3 x 9.2 x 4.7	14.3	104	13/8	24
Cookie Rolls with Salted Caramel Cream Filling	14.1	12	15.3 x 9.2 x 4.7	14.3	104	13/8	24

## Waffers

### JOCASTA ROLLED WAFERS CHRISTMAS EDITION



Item Description	Net Weight (oz)	Pieces Per Carton	Carton Size W x L x H	Carton Gross Weight (lbs)	Cartons Per US Pallet	Ti / Hi US Pallet	Shelf Life (months)
Cookie Rolls with Egg Nog Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24
Cookie Rolls with Hazelnut Cream Filling	14.1	12	16.5 x 12.5 x 5.9	14.3	104	13/8	24